Calculus II

Exam III Team Component                        Name____________________

You may help each other on this component of Exam III.  The requirement is that you understand the solutions you turn in.  You will be tested on your own on some of these problems so you will need to be able to verify that you understand what you turn in.  

1.  Determine whether or not each of the given sequences converges and if the sequence converges show what it converges to.
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2.  Determine whether or not each of the following series converges.  Demonstrate the test for convergence that you are using.  If the series is an alternating series that converges absolutely, approximate the infinite sum with an error less than 0.0001.
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3.  Show that the following infinite series converges.  Sum the first 50 terms in the series.  Sum the first 100 terms in the series.  Estimate the sum of the infinite series accurate to 7 places to the right of the decimal.
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4.  Find the interval of convergence of the given function defined by a power series.  Include a check of endpoint convergence.  Approximate f(1) with an error of less than 0.00001.
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5. Show each step in generating the first 4 nonzero terms in the Maclaurin series for f(x) = sin(x).  Write the infinite Maclaurin series for f(x) = sin(x).  Differentiate this series to produce the Maclaurin series for cos(x).

6.  Show each step in generating the fourth order Taylor polynomial for cos(x) centered at 
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7.  Use the 11th Maclaurin polynomial for sin(x) to estimate sin(2).  Use your computer if you wish and compare this estimate with the computer generated approximate value of sin(2).

8.  Determine the minimum number of terms needed to estimate the sum of the given infinite series with a guaranteed error of less than 0.0001.


[image: image11.wmf](

)

2

0

1

2

n

n

n

n

¥

=

-

å


9.  Convert the given function to a power series representation with a restricted domain and compute f(1).
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10.  Give the Maclaurin series for cos(2x3).
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